Dotyczy rysunku:

NADPROZA PARTERU

szt./ n (szt llo$é A-lllN
Poz |/ [nr | # | L m |, 52) ogolna [ #6 | #8 | #0 | #12 | #6
— 1112|222 | 6 66 1465
z 1128|100 | 14 | 154 154.0
~ 2 3|12 192 6 12 23.0
z 2 als|100]| 14 | 28 28,0
o | 1[5 12] 337 | 6 6 20,2
z[1[e|s|100]| 14 | 14 14,0
s 2712|242 | s 12 29.0
z[2s|s|100]| 14 | 28 28,0
o | 1|9 [12] 162 6 6 9.7
z [ 1 108|100 2 2 2.0
o | 1 [11]12] 526 | 6 6 316
z [ 1 [12] 8] 100 | 266 | 266 266.0
Catkowita diugose: m] | 0.0 [492.0] 00 | 2604 | 0.0
Catkowita masa: kg | 0.0 [1943] 0.0 |231.0] 00
RAZEM - S[kg] 4253
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